Second Semestral: Assessnient 2012
- Prithary 5 Mathematics

Name: ' . Register No.
Class: Pr 5 -
Date: 29 October 2012 - Parent’s Signature:

Total Time for Book{et'é”-/{\ and B : 50 minutes

PAPER 1
(Booklet A)

Instructions to Pupils:

Do not open this boeoklet until you are told to do so.

i"-'"ollqw alf instructions carefully.

Shade your answers in the Optical Answer Sheet (OAS) provided.

You are not allowed to use a calculator

o b N =

Answer all questions.

Section Maximum Mark . Marks O:bta&néd
Paper 1 (Booklet A) 20

* This booklet consists of 6 pages (excluding this cover page)

&1



2.

' Sheet
* Which of the follewing. is. eight million, thirty-eight thousand, three hundred
and eighteen?
Q) 8038 318
(2) 8083 318
(3) . 8380318
@) 8383018
The value of 50 tens, 5 tenths and 5 thousandths is
(1) 50.055
(2) 50.505
(3) 500.055
4) 500.505
2 .
— = 3 has the same value as
2
5
@ 3y
Z
(3) 2.1
573
(4) 2,1
273

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 cafry 2 marks each. For
each question, four options are glven One of them is the cotrect answer, Make .
your choice (1, 2, 3 or 4). Shade thie oval (1, 2, 3 or 4) on the Optical Answer .

{Go on to the next page)



4.

t=l

in the_triarié!e 0PQ below, hamé the base that corresponds to the height ON.

- (The-figute is net drawnitaseale) " 7

P

* PQ
2) PN
@ opP
@  oQ

After tuming 45° clockwise, Wei Qiang is facinig north iow. Which direction

was he facing at first?
) West
(2) East
(3) North-East

(4) North-West

N :

The figure below is not drawn to scale. BCD is a straight line. Find ZACD.

A

(1 73
%) 107°
@ 1o
4) 134°

38

(Go on 1o the next page)
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@
@

- i% qf a nufri_i_)ér is 210. What is —il of the number?

30
75
225

300

8. "The figure below is not drawn to scale. Zbis 3 times of Za and Zc s twice:
of Za. Find Za.
RO T a
@ 60°
@ 907
(4)  150°
9. The ratio of the number of red apples to the number of green apples in a

basket was 2 : 5. There were 63 red and green apples altogether. How many

green apples were there in the basket?

(1)
2)
(3)

GO

9

18
35

45

(Go on to the next page)



10. The average mass of Box A, Box B and Box € is 35 Kg.

_ The average mass of Box A and Box Cis 43 kg. Whatis the mass of Box B2

()  8kg
(2) 19 kg
JAr3 27 kg
Lr4  62kg
11. The figures below are made up of 1-cm cubes
Figure A - Figure B

How many-1-cm cubes must be added to Figure A to make Figure B?

) 15
2) 17
T (3) 19
4 - 21
12. There are 49 pupils in a school library. —2— of the pupils are girls. How many

more girls than boys are there?

(1 14
2 21
(3) 28
4 35

(Go on to the next page)



' 13. . Reliable Car Rental charges the following rates for the rentaf of a car.

Mcnda'_y__-‘ Friday - : $ 45 perday

Saturday — Sunday : § 60 per day iz

Mr Raju rented a car from Tuesday to Sunday. How much must he pay for

the rental of the car?

) $120
@  $180
3)  $300
@  $330

14, 20% of the 400 frliits ira crate are apples. 100 more apples are added o the
crate. What percentage of the fruits in the crate are apples?
1) 16%
2. 25%
(3)  30%

4y  36%

(Go on to the next page)



5.

“The fiumber of twenty-cent coins that Sujata has is twice the number of ten-

‘cent,cdins. The total value of al the coins is $12. How many twenty-cent

coins does she have?
M

2)
@

{4)

24

30
48

60

{Go on to Booklet B)
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SecondSemestfal _
Prinvary 5 Mathenratics

Name:

Class: Pr 5--
Date: 29 October 2012

Total Time for Booklets A and B : 50 minutes

rOSYTH I

sheol
;sessment 2012

Pa_renfé ,S'ignature:

Register No.

~ lnstructions fo Pupils:

1
2
3
4

. Do not open this boollet until you are told fo do so. |

PAPER 1

(Booklet B) |

. Follow all instructions-carefully.

. You are nof allowed to use a calculator

. Answer all questions.

Section .

-M-aximurh Mark

Marks Obtained

Paper 1 (Booklet B)

20

* This bookiet consists of 7 pages (excluding this cover page)




Questions 16 to 25 cérry 1 mark each. Write your answers in the spaces provided.

‘For questions which require units, give your answers in the units stated.

16.  Find the missing number in the following number pattern:

58 860, 60 060, . 62460, 63660

Answer:

17. What is the missing number in the box?

[=)}

3 +
5 +

£
5

=

Answer:

18.  Joshua has 80 stamps. He has 4 times as many stamps as Shawn.

How many stamps do they have altogether?

Answer:

Do not wi
| in this spz *

_(10marks) |

(Go on to the next page)
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1 9. What is the ratfo of the nurnber of appies to the totai number of fru;ts?' '

Express ydu_(,answer in the SImpIest form.

Answer:

20.  Joeljogs an average distance of 3 km every day.

Hew far does he jogin 3 weeks?

Ahswer: km

21.  Amelia ‘ha'j;'s $81. Mei Ting.;ha‘s. 318 less than Amelia. Find the ratio of Amelia’s

money to Mei Ting's money. Express your answer in its simplest form.

Answer:

(Go on to the next page)




Do not writ

22. A rectangular tank measuring 30 cm long and 20 cm wide contains 12 litresof | Z° 0
. : - : | in this spac

- water. Find the height of waterin the fank.. .- -

Answer: . cm

23. Theareaofa triangie is 27 cm”. If the height is' 3 cm, what is the base of the

triangle?

Answei: - cm

24. Meiling has many rectangular blocks each measuring 5 cm by 4 cm by 3.cm.
What is the maximum number of such blocks that can be put into a square box

of edge 20 cm?

T ANRSwWer:

{(Go on to the next page)
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25. " Aset of 5 stickers cost $3.50. Zarina bough’t 45 st:ckers
. How muich did she pay for the stickers? - "

Answer: $

(Go on to the next page)




Questions 26 to 30 cafry 2 marks each. Show your workings clearly in the space

o prowded for each questson and wnte your answers in. the spaces provzded For

duestions which requure units, glve your answers in the wnits stated. (10. marks)

26. AB, CD and EF are straight fines. Find £ x.

Answer: .

27. The figure below is made up-of a square and 2 triarigles. Given that AF = FE,
find the area of the shaded parts.

33 cm _

Answer: _ _ ____.cm

_(.Go on to the next page)
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28. fivthé figure (not drawn to Scale), WXYZ is a rectangle. £ WSX = 76°and ‘| inthis spa -

W — ‘ X

20"

58 v

Answer:

29.  Elgin saved 30% less money than Fazi. Guresh saved 40% ‘moré monay than

Fazi. Express Guresh's savings as a pere'enté_ge of Eigin's.savings.

Answer, . - %

(Go on to the next page, !

Do notwi -



e 30, In.‘an,art:_,‘c!a's_s,,’t:he ratio of._jthe:numb.et_of. boys to the number of g}rl;s_. was 34

After 12 boys left the art class, therewere 1—32— as marly boys as girls.

How many boys were theker in the art class at first?

Answer:

-——— EndefPaper 1 ——

ol
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Resyth S h@@l
Second Seméstral Assessment 201 2
Primary 5 Mathematics

Name: | " Register No.
Class: Pr 5 -
Date: 29 October 2012 Parent's Signature:

Time: 1 h 40 min

PAPER 2

lnstructi,ons to Pupils:

1. Do not open thls booklet until you are told to do so.
2. Follow all |nstruc’uons carefully ‘
3. Show your workings clearly as marks are awarded for correct WGﬂ(ing.
4. Write your answers in this »bbbk{et.
5. You are allowed {6 use a caleulator
6. Answer all questions:
Questions  Maximum Mark Marks Obtained
Q1to5 10 |
Q6to18 | 50 "
Section -Maxir_nijr_n Mark Marks Obtained
Paper 1 , 40
Paper 2 60
Total | 100

* This booklei.ccn,S:irs5ts 0f 16 pages (excluding this céver pagey



Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided

- for each question and write your answers in-the spaces prov:ded For questlons whlch ;
S requ:re umtsr glve your answers i the units. stated R

1. Osman bought some cakes at an average price of $5 each. He_.bggght._ap;other

cake which-¢ost $17 and the average price became $7. How many cakes did he |

"buy altogether?

Ans.:_. .

- 2. Joan, Sasha and Yatf shared & packe‘t of sweets inthe ratio of 2: 3. 1. Yatt gave

all her sweets egually to Joan and. Sasha What is the ratio of the number of |

sweets Joan has-to the number of swieets Sasha has now?

Ans:

1 (Go on tothe next page)
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— 3. A group of pupils were ngen wh|te and g{ey ‘Smﬂey face badges They are ' D o.not writ

'arranged in the pattem shown below. If thisre are 74. badges; what isthe ~ | in this spac -
coloat of e 14t badge?

Ans:
4. The tnangle below is not. drawn to scale. AB = 12 cm, BC = 15 cm and
AC = g em. Find the length of AD
A
4 12 cm
9cm
B
D
15 cm
C
Ang:’ : cm

2 | (Go on to the next page}



A rectangular piece of paper measuring 12 cm by 10 cm is foded at a’ corner

«-forning af.shaded.._;gzdgge{esg tr_iaﬁg_le'-:sh’(‘)‘yvq_ in the-figure below . -Expfess.the» s s i

' unshaded area after {he -paper was foidéd.as a fraction of the area of the |

 rectanglar piece af paper. (Fiefigiieisngtdrawn to. scale.)

10:em

6cm

12 cm

Ans: -

3 (Go on to the next page)
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"Questions 6 to 18 “shaw your woiking. ciearjy in the space pmvuaea, for each. quesnon |
-and wiite your answers if- ﬂ)espaces pra\ﬁﬁ‘edw Tﬁe«naéﬁbewefwmarks available:is

shown m brackets [ ] at the end of each quesfi@n or: part—quest[@n

6. Melvin had an equal number of goldfish and guppies. in_his ;aquariugn. After |

28 goldfish and 196 guppies had-babinseid: the number of goldfish was five

times that-of the number of guppies. How many g_up;piés?we're there at first?

ANS, f3mj

4 {Go on to the next page)

(5@ marks)' 1o




7.

Hamid 'had-.g-_ as much money as his sister. - After ‘each of them had spent

How much did his sister hiave at first?

[3m]

'(Gé ofi to the next page)

/o7



8. The_ﬁgﬂr-'e- below (not di‘éWn.'tcl); scale) is ma-d'_e‘up of 2 isosceles friahgiés,
ABC and ACD. AC =BC = CD. . '

A

Ans: | '-.[3m]

{b})  Based on question 8a, construct and label triangle ACD such that
AD =8 cm. [2m]

o {Go on to the next page)




9... Josh and Zach shared.$1’ 200. When their mother gave each of ‘them

- $129, Zach had-25% more. monev than Josh Hew much mgre money dld _' o

Zach have than Josh now’?

7 [Go ) {o the next. page)

o9



100

Ina school hall, a certain number of deésks eanm be arranged in exactly 15

desksper row. When-the same number of desks is arrgnged in 12 desks

per rew there will be 4 more rows and 9 desks [eft aver. Howmany. desks

- ‘are there a{together'?

Ans: [3m]

8 {Go on to e next page)

D6 not wril
in this spa(



11

water A cubical contamer w:th sxde measurmg 12 cm-is- cempletely fi Iled

' '-wrth water All of the water frem the cubrcai cmntamer IS poured into the

A rectangular tank measurmq 30 em by 12 cm by 16 cm contained some

relstargular. taik unﬁlitis%- filled. Wit Ts. the amoging.of water.in the

rectangular tank at first?

"Ans: ‘ ‘ {3m]

9 {Go on to t'ﬁe_"'r_iext page)



e BT SERRRINCrOYSRIL DY 2075 this mointy; Shie spe

12.  Tiisha spenit 15% of hér $élaiy i food and ranspoit every month: When | Do nof v

‘transport. Wﬁa\'t.wé-s"-hér'"néwsalé-r?y}iaﬁel*the'-'inri;rémént? :

Ans: (3m] '

10 (Go on to the next page)



13, 32% of Jane's sum of money is equal to %of Omar’s sum of mgney. Ef'i'hey

" A have 4 fotal Sur of $642, how Tritioh does Omar have? T

11 (Go on to the next page)

el



14,

At a carnlval each child - 13 given 4 packets of chscolaj:e Each adult

recewes 2 packets of chocolate -g of the people at the camwai are adults _'

Gtven that only 4 290 packets of c‘hocelate are glven away, h@w many
children are there altogether? -

Ans: _ [4m]

12 {Go on to the next page)

D;o, oty
I.n“_t—his-s.p



15.

_amount of grapes is: th;e'..teial-.amﬂﬂnﬁ-Qﬁ.ﬁf%_-@&ﬂi@@iﬁiﬁﬁmifl@@s{ﬁ- .How

Tom, Jayd and Muthu had some amount of grapes each if Tom gave Jaya

864 g of grapes Tom and Jaya WI|| have an equal amount of grapes It Jaya |

- -}

mahy kilégramries of-grapes. did-tHey tave-altogetiier?

. Aos: f4m]

13 {Go on to the next page)

h ‘gave 864g of grapes te Tom He: weuldhave % of what T@mdaati Muthu s

s



16,

o wiﬁﬁts e@nténifs el

A weodenb'ox' contaiiiing. 18. flower pots. weighed 30 kg. Later Uncle' Mak |

added 2 note. vases anel 7 flower pots into the bex.and the mass of fhe weeden

as: ‘heavy as the mads S CHE ﬂGWer p@t
(2} Whatis the mass of the wecaden box? .

{6} Uncle Mak could only it a maxifum: mass ‘of 42 kg What was the

least numiber of flowér pots that he should remove from: the b@x so
that he was able to:lift the-box?

#ns: (a) . {3m]

(b) | [2m]

14 - (Go on to the next page)

'”7'-4@2f~l<g The mass ef each vase w@‘*g f@ur tlmes--- SRR




7.

V_The figure below shows 3 different tn’éhgles A, BandC. % of Aand.
.. 40% of Cis shaded The. shaded area of A is;the same as the shaded@ea
of C. What fraction of the fi figiire s uniStiaded if 86% oF B is shaded? '

(Leave your answer in ifs simplestform.)

15

Ans:

, 15”11

(B6 6t to'the next §aGe)

v



18.

b)

For every 10 difigveidighicts
purchiased; a-80%Hiseanitivillbe
given to the 10" vaucher.

Mrs Teo wants tOpurohasezd-;driai'm Wonidhers. ‘If each dining voucher
cost $35, how much does:she havetogay?

Mr Lim bought $542.50 worth. of védéhers. HoWw many vouchers. did he
purchase? | '

Ans: (a) _[3m]

i) ' (2m]

- End of Paper

Have you checked your woik theroughly?

16

o L DONOE Wrif
St inv'this spac




Answer

LR

SCHOOL : ROSYTH

SUBJECT: PRIMARY S Mﬁ?’HEﬁmﬁﬁ

R

wa

GiT [ BT
1 . 1l4 i

16 (00| Bl Oz [ 18 | (A4 01

E J

1 4. 1'32°% % I% 43 4 41 F,

1661260 17)10

18)100

21)0: 7 22)30 i 20 =500

24320+ 5 =4
W4 =5
2043 =6
Gx5x4=120

25)4555=9
9x 3.5 =$315

26)180" — 123* = 57"
27)12x12 = 1%4
e x 12'% 24 = 126
126 + 144 = 270cinz
28)38°
29)200%

30)27 boys

. 9m)aTx2=54

A2000:600= 200K - B4+ 6k |


Answer Key


DL -7 =10
10:2=58
5+ 1 =06 cakes

285 ¥
223 :1
$:6:2
5:7
Theratiols S : 7

SNBx4=72
FA+2 =74
The colour is grey

TAPEXOx 12 < 54
V2 X 15 x AD = 54
54 TV = 7.2¢m

5)Area of Rec>12 x 10 = 120
Arsapoftril>xd4xd =g
2HiPEx 2 =L o
Unshaded>120.- 16 = 194

1047120 = i3j48

Thefractionis 13/15

BYIu3(196 - 28) 4 = 42
| GUppy->42 + 196 = 238 |
There were 238 guppies at first

7)25 - 14 = 11
1w>154-+11 = 14
59145 35 = $490

His sister liad $490 at first

8)a)LACD360° ~ 156" ~94° = 310°
LADCH(I80° - 119 ) 22 = 35
ZCBAD(1B0" -99" } +2 = 43°
ZDAB>43" 4 35° = 7g°

Pagd 2 |

T eonk w1



9)5+4=9
ou>1458

. 1u>145839 =162
Z->162x 5 = 810

.. 1>162x4.=648

' 810-648 = 162

Zach have $162 more than Josh

10)12 x4 +9 =57
rows—>57+-3 =19
deska>19 x 15 = 285
There are 285 desks

11)Volume>30 x 12 x 16 = 5760
Cubical>12x12x 12 =1728
Water rec tank->5760-+-3 x 2 = 3840
At first>3840— 1728 = 2112

The amount of water was 2112cms

12)New salary>120%
Spent>15%.x 120% = 18%
18% - 15% = 3%
3%-->88
1%-->291/3
29173 X120 = $3520

13)8/253> % O m

. 24/751>24/320m,
75 + 32 = 107 ‘
1u>642+107 =6

. 0$n>6x32 =192

Omar has $192

14)1C>4 x5 =20
1A>2x3 =6
20+ 6 =26
1u>4290+26 = 165
165 x 20 = 3300
No.children>3300+-4 = 825
There are 825 children

15)864 x 4 = 3456
3u->3456
1u>3456+2 = 1152
5u>1152 x 5 = 5760
5760 x 2 = 11520
11520+ 11.52

16)a)lu->(49.2 - 30) <15 = 1.28
" 18u>1.28 x 18 = 23.04
b->30 - 23.04 = 6.96 "

The mass of the box is 6.96kg

b)49.2 -42=7.2 -
7.2+1.28 = 5.625 ~ 6
6 flower pots should be removed

17)13/19

18)10 vouchers>35x 9 = 315
315+ 17.5=332.5
20 vouchers>332.5 x 2 = 665
A 35x4 =140
Total-> 665 + 140 = $805
a) -Mrs Teo has to pay $805

10 vouchers—>332.5
5425 -332.5 = 210
Remaining>210:-35=6
Total2>10 + 6 = 16
b)}Mr Lim bought 16 vouchers

gnd

$2t
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